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Question 1
Question Type: MultipleChoice

One LSPTunnel can only carry one PW

Options: 
A- True

B- False

Answer: 
B

Question 2
Question Type: MultipleChoice

The thickness of the fiber core, the refractive index of the village material and the cladding material have a decisive influence on the

characteristics of the fiber.



Options: 
A- True

B- False

Answer: 
A

Question 3
Question Type: MultipleChoice

The device IP addresses of gateway network elements and non-gateway network elements must be set in the same network segment

Options: 
A- True

B- False



Answer: 
B

Question 4
Question Type: MultipleChoice

Through the northbound interface, the U2000 can flexibly connect with different third-party network management systems, providing

physical storage and reporting data information for the upper-layer network.

Options: 
A- True

B- False

Answer: 
A

Question 5



Question Type: MultipleChoice

When using OptiX Datacollector to collect data, it can be collected by network element, which means to collect the fault data of all

boards below the network element, or it can be collected by single board to collect

the fault data of a single board under the network element.

Options: 
A- True

B- False

Answer: 
A

Question 6
Question Type: MultipleChoice

Set up the alarm to report automatically, and report the alarm on the device side immediately after the alarm is generated. The alarm

board pops up on the network management system. The user can view the alarm information in the alarm board, and does not need to



actively search for words. Unnecessary alarms can be set to not be automatically reported. At this time, the alarm will no longer be

reported to the network, even if the synchronization operation is performed.

Options: 
A- True

B- False

Answer: 
B

Question 7
Question Type: MultipleChoice

SNCP switching speed can be improved if SNCP services with the same source, sink or route are grouped

Options: 



A- True

B- False

Answer: 
A

Question 8
Question Type: MultipleChoice

When configuring LMSP, there are two switching modes: single turbulent cutting and inserting and double full switching. Single-ended

switching does not require self-use protection

Options: 
A- True

B- False

Answer: 
A



Question 9
Question Type: MultipleChoice

The path method to create Och does not need to search the path on the network management, it can be found in the network

management service management, and the single-site method must first start the search

Options: 
A- True

B- False

Answer: 
A



To Get Premium Files for H35-260 Visit
https://www.p2pexams.com/products/h35-260

For More Free Questions Visit
https://www.p2pexams.com/huawei/pdf/h35-260

https://www.p2pexams.com/products/H35-260
https://www.p2pexams.com/huawei/pdf/h35-260

